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flag{f8fbb2c761821d3af23858f721cc140b}
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[warmup]easy_re
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v16=[ @xF5, @x8C, @x8D, @xE4, @x9F, OxA5, 0x28, Ox65, 0x30, OxF4,
OXEB, OxD3, 0x24, OxA9, 0x91, Ox1A, Ox6F, OxD4, Ox6A, OxD7,
OxOB, Ox8D, OXE8, OxB8, Ox83, Ox4A, Ox5A, OX6E, OxBE, OxCB,
OXF4, Ox4B, 0x99, OxD6, OXE6, Ox54, Ox7A, Ox4F, Ox50, 0xl4,
OXE5, OxXEC]
v23="tallmewhy"
v24=[]
v22=[]
for i in range(256):

v24.append(i)

v22.append(ord(v23[i%len(v23)]))

v6,v7=0,0
while v6<255:

v8=v24[v6]

v7=(v7+v22[v6]+v8)%256

v24[v6] = v24[v7]

Ve += 1
v24[v7]=v8"0x37
v12=0

v9,v10,v20=0,0,0
while v12+1<42:
v9=(v9+1)%256
v11=v24[v9]
v10=(v10+v11)%256
v24[v9]=v24[vie]
v24[v1ie] = vil
v1l2 = v20
v16[v20]7=v24[ (v11+v24[v9])&Oxff]
v16[v12]=chr(vi6[v12])
v20 = v12 + 1
print(''.join(v16))
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from Crypto.Util.number import *
import gmpy2

from flag import flag

assert flag[:5]==b'flag{"’

m = bytes_to_long(flag)
p = getPrime(1024)

q = getPrime(1024)
n=p*q

print('n =',n)

e = 0xl1eee1

M = 2021 * m * 1001 * p

c = pow(M,e,n)
print('c =',c)

#n = 173652311549263483644782768725584927759117606030023943537236034618984057402347150018201115486009149076
#c = 694496710881543773542894128678411940313831971345573215592505592864653696259767294180583131213068933801

M B & min5cE A Fp, EBidgedktip, BEERHEq.

p=gmpy2.gcd(n, c)
q=n//p

BT EENrsaff %, SEBBA.

import binascii
from Crypto.Util.number import *
import gmpy2

1736523115492634836447827687255849277591176060300239435372360346189840574023471500182011154860091490761
C = 6944967108815437735428941286784119403138319713455732155925055928646536962597672941805831312130689338014
p = gmpy2.gcd(n, c)
#p=15029060827099243984405482330315426379419780356169578605686061517457518127716003222285953233545448691435
q=n//p

n

# Afe

e = 65537

BRI RN

n=p*gq

phi = (p - 1) * (q - 1)

# Wind

d = gmpy2.invert(e, phi)

# BIXCm

m = pow(c, d, n)

m = m//(2021 * 1001 * p)
print(binascii.unhexlify(hex(m)[2:].strip("L")))
#b'flag{Math_1s_1nterestlng_hah}"'
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strl = 'abcdefghijklmnopgrstuvwxyzABCDEFGHIJKLMNOPQRSTUVWXYZ'
cipher_text = 'aoxL{XaaHKP_tHgwpc_hN_ToXnnht}'

a = 37
b = 23
m= 52

for i in cipher_text:
for j in range(33,128):
if(chr(j)in stril):
addr= stril.find(chr(j))
cipher_text = stri[(a * addr + b) % m]
else:
cipher_text = chr(j)
if(cipher_text==1):
print(chr(j),end="")

RSA2-PLUS

7R H B

from Crypto.Util.number import *
import gmpy2

from flag import flag

assert flag[:5]==b'flag{’

ml = bytes_to_long(flag[:20])
p = getPrime(512)

pl = gmpy2.next_prime(p)

q = getPrime(512)

ql = gmpy2.next_prime(q)

nl = p*q*pl*ql

print('nl =',n1)

e = 0x10001

cl = pow(ml,e,nl)

print('cl =',cl)

m2 = bytes_to_long(flag[20:])
p2 = getPrime(1024)

g2 = getPrime(1024)
print('p2+gq2 =',p2+qg2)
print('q2*q2 =',p2*qg2)

n2 = p2*p2*q2*q2*q2
print('n2 =',n2)

c2 = pow(m2,e,n2)

print('c2 =',c2)

#nl = 63487799796062808845894221887389024705758762946434928314659473603635680262809639892915911577103896292
#cl = 62018820789954556733763276529826101028078747830737030185510447804406206792178332277113956891146591445
#p2+q2 = 27477314676113846270813758230909738643779389179369138303385652430301081129410193345482448501052146
#p2*q2 = 18514724270030962172566965941723224386374076294232652258701085781018776172843355920566035157331579
#n2 = 40588227045595304080360385041082238507044292731344465815296032905633525556943787610712651675460810768
#c2 = 25591090168544821761746024178724660839590948190451329227481168576490717242294520739865602061082558759
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from Crypto.Util.number import *
from gmpy2 import *

n = 6348779979606280884589422188738902470575876294643492831465947360363568026280963989291591157710389629216
C = 6201882078995455673376327652982610102807874783073703018551044780440620679217833227711395689114659144506
e = 0x10001

def fermat_factorization(n):
factor_list = []
get_context().precision = 2048
sqrt_n = int(sqrt(n))

c = sqrt_n
while True:
c+=1

d_square = c**2 - n

if is_square(d_square):
d_square = mpz(d_square)
get_context().precision = 2048
d = int(sqrt(d_square))
factor_list.append([c+d,c-d])

if len(factor_list)==2:
break

return factor_list

factor_list = fermat_factorization(n)
[X1,Y1] = factor_list[0@]

[X2,Y2] = factor_list[1]

assert X1*Y1 == n

assert X2*Y2 == n

pl = gcd(X1,X2)
ql = X1 // p1
p2 = gcd(Y1,Y2)
q2 = Y1 // p2

Fai = (p1-1)*(ql-1)*(p2-1)*(q2-1)
d = invert(e,Fai)

print long to_bytes(pow(c,d,n))

#flag{Euler_functlons
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from Crypto.Util.number import long_to_bytes
import gmpy2

p2_add_qg2 = 27477314676113846270813758230909738643779389179369138303385652430301081129410193345482448501052
p2_mul_qg2 = 18514724270030962172566965941723224386374076294232652258701085781018776172843355920566035157331

n2 = 405882270455953040803603850410822385070442927313444658152960329056335255569437876107126516754608107687
c2 = 255910901685448217617460241787246608395909481904513292274811685764907172422945207398656020610825587597
g2 = n2 // (p2_mul_g2 * p2_mul_qg2)

#print(q2)

p2 = p2_mul_q2 // q2

#print(p2)

phi = p2 * (p2 - 1) * q2 * g2 * (q2-1)

e = 0xleee1

d = gmpy2.invert(e, phi)
m = pow(c2, d, n2)

print(long_to_bytes(m))
#b' 1s_very_intersting}'

aE—E

flag{Euler_functions_1s_very_interst1ng}
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